[image: image1.jpg]aat





CBT Sample assessment model answers

Prepare Final Accounts for Sole Traders and Partnerships (FSTP)

Sample assessment 2
Task 1
[image: image2.png](a) Find the closing balance on the sales ledger control account by preparing this account for the year ended 31 March 20X7.

Sales ledger control account

[Balance bid 16835 [Bank. 179158

[Sales day-book, 189054[Sales retums day-book 5035]

[Discounts allowed 2730|

[Batance cia 17965
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[image: image3.png](b) Find the drawings figure by preparing a summarised bank account for the year ended 31 March 20X7.

Bank
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[Sales ledger control account 179158 |Balance bid. 1900[q]
[Caital 5000 [Wages 1532004
[General expenses 18410[4]

[Purchases ledger control account 107228[q]

VAT s650[q]

[Prawings 27500[q]

[Batance cia 7052[q]

[«

84158 184158/





Task 2
[image: image4.png](a) Complete the capital account as at 1 April 20X6, showing clearly the balance carried down.

[Balance cia. 10900 [Balance big [l

[Bank 10000
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[image: image5.png](b) Calculate the value of the cost of goods sold for the year ended 31 March 20X7.

= [55000

(c) Calculate the value of inventory as at 31 March 20X7.

£ [a20





Task 2 (continued)

[image: image6.png](d) Taking into account the information you have, which of the following is most ikely to be true?

Profitfor the year was £1,100

Profitfor the year was £11,000.

‘The trader took drawings from the business during the year.

Now complete the following:

This [cannot JG@] explain the profit igure above.





[image: image7.png]You are now working for another client.
You have an iniial tral balance. The totals are as follows:

Debit side £162,638. Creditside £163,628

(&) Which ONE of the following errors could explain this?

Aninvoice to a customer has been omitted from the subsidiary ledger account.

Aprepayment has been duplicated n the correct expense account and omitted from the other side.

‘The discounts recsived figure has been posted onlyto the purchases ledger control account.

‘The joural for an accrual has been posted the wrong way round.





Task 3

[image: image8.png](a) Calculate the sales revenue figure to be included in the statement of profit or loss for Onyx.

2 7sa30

(b) Calculate the purchases figure to be included in the statement of profit or loss for Onyx.

=[ 108670





[image: image9.png]Onyx Trading

Statement of profit or oss for the year ended 31 March 20X7

[Sales revenue

175430)

[Opening inventory

[Purchases

[Closing inventory

[Cost of goods sold

(Gross profit

64910

Less:

[Depreciation charges

[General expenses

interest paid

[Wages

recoverable debts

[Total expenses

65670

[Prof

I1oss for the

750





[image: image10.png](d) Calculate the balance on the capital account as at 31 December 20X7.

Capital as 3t 31 December 20X7: £ [28000





Task 4

[image: image11.png]() Show the entries required to introduce the goodwillinto the partnership accounting records on
1 January 20X7.

Amount popy

(b) Which of the following should be included in a partnership agreement? Choose ONE:

The partnership appropriation account.

‘Capital and current accounts for each pariner.

‘Salaries and wages to be paid to all employees.

“The rate at which interestis to be allowed on capital





Task 4 (continued)

[image: image12.png](c) Prepare the current accounts for the partners for the year ended 31 March 20X7. Show clearly the
balances carried down. You MUST enter zeros where appropriate in order to obtain full marks.
Do NOT use brackets, minus signs or dashes.

Currentaccounts.

[Prawings 40000 [Balance bid 1160] 420  2570)

[Balance cia O 7243|  8393[salaries 14000 21000] 22000|

[Interest on capital 2880|1980 1980

[Share of profitor loss 22404| 21843| 21843

[Batance cia 436 0 0|

42000| 45243| 48303





Task 5 
[image: image13.png](a) Calculate the balance of each partner's current account after sharing profits. Indicate whether these.
balances are DEBIT or CREDIT by writing either word in the appropriate field (the answer fields are not
case sensitive).

Balance Debit  Credit

Currentaccount Jon £ 22678 [creait

Curentaccount  Pat £ 14748 [creat





Task 5 (continued)

[image: image14.png]hon curentassets [ ] —
(G caupment T 7120
Carrontassets

Imertor 20

Frade eceabies B

=] ED

ok T

o carontzssets =
(Carrentiabites

e paramies =

o 77

e a0

Firepurcrase B

o carenTbiies B
Netrentassets 2109
etassets =





[image: image15.png][Financed by: Jon Pat Total
[Capital accounts 200 14000 35000
[Curent accounts 2678 aras 7425

Wawrs| 28748 73428
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